8 Knacc
MAQOY COLLU Ne 13 ropoga TromeHwH




Pa3zjio:xeHne KBaJpaTHOro TpeX4/jieHa
HA JJUHEeVMHbIEe MHOKHUTEJIHN

Teopema.| Ecimx; U x, — KOpPHH KBaJpaTHOrO
TpexuieHa a x° + bx + ¢, To

ax’+bx+c=a(x-x)(x-x,).

a) 2x° +14x+24; 6)— x> +8x+9;
2) 25x* —=10x +1; 0) 7x° +9x+2;



Cokpatutb 4pobb

16 — x*°
x’-x—-18

x?-x=-12=
X?-x=12 = (x-4) (x ~(-3))= (x-8)(x+3);

16 — x°

_"(4 x)(4 + x)




CoxpaTuTs Apoos:

2x° + 5x— 3 3x? — 2x
1. > 2 —
p 4 3x“+ 7x— 6
7x% — x 5x2+3x—2
3 4.

7x% + 13x — 2 5x° — 2X




CokpaTtunTb Apobb

x°-8x-10 x°+5x+4

P2-bx-14"  52_._g’

X4 x+2, 12-7a + a*

8x2+x-2" 1a 16
49 — t*

t2-5t-14"

e



